
PART - I (Teaching Abilit-v, Reasoning and General Knowledge)

qFr - 1 (*Rr6 sftqfu, f,d{rk qni flqrq arc)
(Question Number I to 100) I (c{+ (gr r t roo a-o)

1 Teacher uses visual-aids to make leaming-
(A) Simple
(B) Quicker
(C) More knowledge
(D) Interesting

The most important cause of failure of
teacher lies in the area of-
(A) Interpersonal relationship
(B) Verbal ability
(C) Lack of command over the knowledge

olthe subject
(D) None of these

Which is the least important factor in
teaching-
(A) Punishing the students
(B) Maintaining discipline in the class
(C) Lecturing in impressive way
(D) None of these

For showing the model in the teaching of a
topic teacher should-
(A) Keep shou'ing throughout the lecture
(B) Stand in front of the model
(C) Show model when need arises
(D) None of these

Who wrote 'lndica'-
(A) Kalidasa (B) Kautilya
(C) Magasthenese (D) None of them

6. Who is appointed as the speaker of 16th Lok
Sabha ?

(A) Arun Jaitly
(B) Sumitra Maha.jan
(C) Sushma Swaraj
(D) Govind Singh Kunjwal

SET.A

sft{IrliF Eqq Hrffif 6r rrirq sre4rw Ct

fi{EiafuH snc + rdc 6-cir B-
(A) [.d
(B) mq E-qTt * fuC
(c) oifun sH + ftC
(D) Ffu6{ ffiri ?fr fdc

qqqS zfr 3RI[5,,FTT 6r wtl {.cT 6T-{Tr t-
(A) ii-m{qiffifi {E"tr
(B) qlq (erdT

(C) frqq 6 g;vt qqi( ft'q-qvr n EfiT

(D) sqitffi q sfti {fr

orqrr{ t rq* srrrqrq-+ 6-lf6 E+{ t-
(A) nrfi +1 s"s t{r
(B) 6S{r { ergvrrr rcrr
(C) cqrqrTrtr 6rr t qr@.r{ t{r
(D) srt-ffi { +t{ Tif

ffi qr6 + hnt r fr m-s-d A wftT * flqq
AG{6 o1 or<r qrfgc-
(A) s+ +{T{ A dR'n drTil{ ftG-ff-rT qri6C

(B) ,f5f, * flq-t c-c Aqr srRq
(C) qrqrqrm di c{ t{qnT srRC
(D) rqE t 4ti Te

'gfrcry'zm fr66 +{ qT-
(A) 6T-fi-ilfl (B) a1t-d'
(C) tqrqfrq 1o) Fa} t 6r{ =re

roff *oqEr d qqsr * w d ffi Fq-4f,
fuqr.rqr t i
1a; wwr ffi
(B) gkT T6rs-{
(c) gqql s6q
(D) fifr-< Ri6 tq-{rd
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lwho ir appointed as the arbitrator in

I vodafone tax disPute case ?

I (e) Ashok chawala (B) R. C. Lahoti

(C) K. K. Malhotra (D) M. B. Shah

An example of audio-visual media is-
(A) Charts (B) Television

(C) Radio (D) Models

10. An example of maturation is when a child
leams to-
(A) Walk (B) Draw
(C) Read (D) zude a bicycle

11. Which of the following is not a domain of
learning-
(A) Cognitive (B) Affective
(C) Conative (D) Spiritual

12. Ram retumed the pencil, he took from Seeta's

desk because he was afraid ofpunishment,
ifhe got caught. This illustrates Kohlberg's-
(A) Pre-conventional level

' (B) Conventional level
(C) Poslconventional level
@) None of these

l

13" 'Konkan Rail' directly connects-
(A) Delhi to Chennai

1 @) Dehradun to Tanakpur
(C) Jammu to Kanyakumari

, (D) None of these
I1{. "Operation Black Board" was the outcome of-

(A) Kothari Commission
@) National Curriculam Framework - 2005

(NCF - 200s)
(C) National Policy on Education - 1986

(NPE - 1986)

@) National Curriculam Framework - 2000
(NCF _ 2000)

SET.A

7. ITrFIr;I qIFITq d qrN".F' {U qrdr ffifu(
{qttft;6{qry;{*fr8-
(A) dkd-{ls (B) 6-ifr6,
(c) E$Tf, s?aT (D) ss€r

8. AsldqfudE * qrqfr tqq{q*sq tffi
ftgmfuqrr{rt I
(A) irsr6 srmr (B) sIR. fi. w+e
(c) *. +. {ddr (D) cq. ff. {n6

9. Rzl-srdq TIIEFI tfi g{r6{uf t-
(A) srJ (B) |frtutr{
(C) tM (D) rfgf,

19. qftTtrdr 6r \1+, 8ff6{qr B fu' q-{ qrd-+' frgf,I
+

(A) qocr (B) fudi6q r6a{r

(C) tr6{r (D) ffifu-o q-oHr

11. frq fr t *{ {r \1*' olfurrq 6r 116( T&
E_
(a) a-srfltrifi' (B) qr+-so
(c) frqrs6 (D) oilqrfrrd

12. rrq i fi-dr fr ts t fr g{ qkfl afrr rs fi
iFn6' tsiT tr69 qFI IR (qI ITtr{ i5T gt etT I

116+6il+f *fuswr*1 emrt r
(A) $-Tiqtrrrdffi{
(B) TRER1I|T (f,-{
(c) sf,{-q{Emrril ltr{
(o) Fc} t 4ti rfr

rs. '+tdq t(' frt dEfr t-
(A) R-ffi ft Hsi
(B) t6r({ * rq-ag{ 41
(c) qqtslt{ 6-qrt{r$ qi
(D) Er{ t qni T€t

14. "Sqtar{ +6 +9" qRqrq qr-

(A) 6tdrt e[T*.r $T

(B) {rqq cqqirq r+fi - 2oo5

(c) tt*q r}fto *qcr - rgso

(D) rtqc cqrfrq (fir - zooo

01(HrNDryA

z Annual Ratha Yatra ofLord Jagannath takes
" 

place in rvhich o[the following state ?

ie) Tamilnadu (B) Karnataka

(C) Himachal Pradesh (Dt Odisha

8.



15. Rural DevElopment Minister Nirin Gadkari
launched the Shyama Prasad Mukherjee
National Rural Mission on ....... with an
allocation of 100 crore rupees.
(A) PPP model
(B) PTPmodel
(C) VTZ model
(D) STS model

16. Who is the Army,Chief of India-
(A) Vikam Singh
(B) B. S. Chauhan
(C) D. K. Jain
(D) Dalbir Singh Suhag

17. When is Anti-Terrorism Day observed ?

(A) 20 May (B) 23 May
(C) 22May (D) 21 May

18. The Education Minister of Uttarakhand is-
(A) Harish Rawat
(B) Dinesh Agarwal
(C) Mantri Prasad Naithani
(D) Preetam Singh

19. Project teaching method is associated with-
(A) Frobel (B) John Dewey
(C) Armstrong (D) None of these

20. When the child is ready to leam, he leams

more quickly and effectively. This principle
was given by-
(A) Thomdike (B) Skirmer
(C) Pavlov (D) None of these

21. A teacher in a classroom should act as a-
(A) Progressive role (B) Boss role
(C) Democratic role (D) None of these

22. The objective ofteaching is to--
(A) Create good citizens
(B) Create persons who are useful for the

society

(C) Create socialistic persons

(D) All the above

15. yr{tur tq.om q4 FftT rsq.fr A . .

3rrerR rl1 100 iEtg EcE * 3ll',q-c-{ ,i
sqTqr rfl.I(gsfr nqqmffqfunsr g
[+-qr r

(A) {|.fr.ff. qism

(B) ft.*.fi. rfsa
(c) *.8.tu. {-sr
(D) Sfl.B.w. fr-sd

16. qr(d * fr"+r rgu qfr{ ?r-
(A) t{6r fit'6
(Bl &. qs. q16'H

(c) Ei. *. +{
(D) ffi-&{ fr-e gar.r

17. snr+qrq-ffi* flr+q 4'q r*rqr qrfrr t i
(A) 20 q-{ (B) 23 {{
(c) 22 T{ (D) 2r {{

18. ErfirEu-s A ftrHr T4't-
(A) 6ftsr tr{d
(B) RhI BTq-cril

(c) q-+ vsK M
1o) fi-d{ Ri6

le. frfi€ firsm frtu ffi {qtud t-
(A) itr+d (B) cf-{ +&
(C) Bn{EirT (D) fi{ t q}i T€

20. qcr Erd-6 frci + tfic iqR *m t, a-s

wd q s"rr"Pndt dGt ftsdrt rT6fusr
frnstsffidfrqr r
(A) f{sr{6 ERI (B) Ra6-{t ERr
(c) crqfr-{ Er{T (D) E{t t q}i {fr

2I. q6 RrH-6 41 6s{r t rFd 6.fir stBs-
(A) qqftnfi-d {T6r q (B) Eilfl +t [ft6r"
(C) e-qrdil*6 {Y6r t (D) 5{t t 6F'16

22. falsa 6r s*w t-
(A) ersrmR-oqqnr
isiqfr qEtnit 6v ffiq fr ffiq a tu

wq),fr d
(C) qq-6IR-5iTr 51 ffiv1 zFFn

(D) Eff (lff

01(HrNDryl



23. Horv many individuals were awarded the

2014 Raman MagsaYsaY Award ?

(A) Five (B) Six
(C) Four (D) None olthese

24. World Elephant Day was observed across the

world on which da1' ?

(A) 11 August (B) 19 JulY

(C) l2August (D) 10JulY

25. An effective teacher is one who can-
(A) Control the class
(B) Give more information in less time
(C) Motivate students to leam
(D) None of the above

26. The FIBAAsian cup is associated with which
among the following sports ?
(A) Table Tennis (B) Hockey
(C) Football (D) Basketball

27. While teaching atheoretical topic in the class,

teacher should proceed fiom-
(A) Unknown to known
(B_1 Concrete to abstract
(C) Reasoning to observation
(D) None of these

28. A teacher can minimize depression among
students by-
(A) trying to understand its causes

@) motivating the students
(C) AandB
(D) reporting to Principal

29. Microteaching is most effective for the
students-
(A) During the practice teaching
(B) After the practice teaching,
(C) Before the practice teaching
(D) None ofthe above

30. Value education makes a student-
(A) Doctor (B) Good citizen
(C) Engineer (D) None of these

SET.A

23. fu-d+ qtm?it sn 2014 Tm mfr s{sR t
{qlft-d fuqi rlqT t ?

(A) cfs (B) Ir:
(c) qR (D) r{fr t +1i r-fr

24. ftaE EIfi fuiq gBw w q frs fr-{ T{FTr
qrdr t ?

(A) ll 3TI[R (B) ls gdr{
(c) l2 sTrrR (D) Io gmr{

25. !I.d s"{re ftrer-f Td t, d 6{ (6iTr t-
(A) 6slT q{ fuq-eq
(B) 6q {Tq d olk*' {sqr t{r
(c) tqilffiiidl ffi * ftq or&ift( 6c{r
(o) flt t 6iit Tfr

26. FIBA cfemr{ 6c Frqfrfird &it* {-q fu{rfr
sqRrir t t
(A) 2kf, tftn (B) 6-41
(C) Ee=frm (D) qIs-c.{rd

27. 6q{r { qfr tETk6 frsq q-6rt + ftC Rrei-6

+1 ft'q ,6q fr q-.6nT qrfrc-
(A) erf,rf, t Hrf,
(e) *{ t {RitT
(cl H-6 ( t{ftervr
(D) 5{q t 6ti Te

28. Err] qt sfffi-{dT ql oq od * ioq orqrq-6
6-{ *5-dr t-
(A) E{B 6ti'fr 4} q'q-fr+ fr +1Rtqr orqr
(B) Erel qit *Efu orcr
(c)AofuB
(D) yqHrfl{ +1 Stdd 4,cor

zs. qr5*1ftEr"T um-Erdrofr + ftc fu{ er+fu q
E{t E{-{pTrfr +dr t-
(A) RRi"r wqrs * ftrr
(B) hR{gr qszflfl A El(
(c) fqnr"r orqTH t c-6d
(D) tsct-{il tf ot{.r8r

30. TffiTrsTnT Rn+ ur* +1 wr q{* X-
(A) if€r 6a1 eran mn-o
(c) qfr{mr (D) E{tt*t{TS

01(HrNDtyA



31, District Primary Education Programme
(DPEP) was launched in the year-
(A) re86 (B) 1984
(C) 2001 (D) None of these

32. How many gold medals were cinched by India
in 2014 Glasgow Commonwealth Games-
(A) 10 (B) 12

(c) 14 (D) ls
33. In a lively classroom situation, there is likely

to be-
(A) Occasional roars of laughter
(B) Complete silence
(C) Frequent teacher-student dialogue
(D) Loud discussion

34. In your view. teaching is-
(A) AnArt (B) A Skill
(C) A & B (D) None of these

35, Area ofindividual differences is-
(A) Gender-difference (B) Body structure

(C) Mental abilities (D) All the above

36. A child who behaves against the social rules

and regulations is called-
(A) Delinquent child (B) Idiot child
(C) Dull child (D) None of these

37. Kumar Sangakkara (Cricket player) belongs to

which country ?

(A) India (B) Sri Lanka

(C) Pakistan (D) Australia

38. For the students of3rd class, which will be

the best way for teaching ?

(A) trcture Method
(B) Creational Activities
(C) Group Discussion
(D) Laboratory Method

39. The academic performance of students can

be improved if parents are encouraged to-
(A) Supervise the work of their wards
(B) Arrange for extra tuition
(C) Remain unconcerned about it
(D) None of these

31. frrdr HiTfr+ fir$r *r+nq fuR.+i.,T"EftH
TtzIIfi-
(A) 1986 (B) 1e84
(C) 2001 (D1 3li t dr+ i-6r

32. 2014 rOrWt nqrro-sa tri t qrr< + Fnat
e"f qro die-
(A) 10 (B) 12

(c) 14 (D) ls
33. gn a$lq osTr ftqia fr ffifia-a q t mfr

orfu6 {e{Ifud t-
(A) 6.ft om FS or dn
G) E"i r',c ti slrft
(c) fiTsr+-Era qrdf

(D) Frqrffii * 4a gfr aer

34. 3ilq+ qg{r, flerii"r t-
(A) S6 6-flr (B) g6 dqrf,
(c) A 3t{ Ba* (D) fli t ftti T€i

35. qFffH ffir+mifi 6r drl i-
(A) ffi'T q-( (B) sntR6 r{rT
(C) qHR6' frqilE (D) sffi {aft

36. flqrfuf Frqfr q frr$r * t+as q+en od
rtff,r EmiF t6-6mr-dr t-
(A) qrf, qrmri (B) fi-€k qrf,6.

(c) r<gk qrco (D) flt t 6ti T€f

37. gqn ri.rdru fu{ hr + ffi{ @ t-
(A) qrd (B) *d-6r
(c) qrtfiRH (D) orefrsT

38. tnen - fi-{ + Erqfffi * ftg frq t t 6tt-sr
ft'rs{oT 6I s{t s*T Ht-6r drT-
1a) taren frfu
(B) ufiI-€6 f*qr +-es
(c) {"T6 qrdff,rc

(D) s+ffirdT hfu

39. fuflffidt fr e-6I<ks ftqrfi 61 guni sT

Tr6.-dT t qR +l s-flTkir l+qT ilt-
(A) {dr * ord or ftfterq mit * toq
(B) irftIfi mr{ 6r r*-q 6,'{i 6 Ffll
(c) sfl'+ Elt q ftFtf, n Eli + ftq
(D) E-{t t 6ti Te

01(HlNDlyA



46. Ifa student often comes late in the class you

would-
(A) Talk to his parents

(B) Complain to Principal about him
(C) Punish him severell'
(D) Find the reasor ard then decide accordingly

41. A school girl developed &e habit ofdropping
the coat on the floor' Mother asked the girl
to get out ofthe room and hang. up the coat

on the peg. The girl enters house keeps coat

on, approaches closet, hangs up the coat on

the peg. It is an examPle of-*
(A) Chain leaming
(B) Stimulus response learning
(C) Concept leaming
(D) All the above

42. A process in which an individual leams new
resporxes by observing the behaviour ofanother
mther than ttuough experience is known as-
(A) General Leaming
@) Social Leaming
(C) Experimental Leaming
(D) None of these

43, A provision for education for the children
with disabilities can be made through-
(A) Integration
(B) Main streaming
(C) Inclusive education
(D) None of these

44. For primary school children, which of the
following is better ?
(A) Video simulation
(B) Hands on experiences
(C) Experimental
(D) None of these

45. 'Toy age' refers to---
(A) Earlychildhood (B) Babyhood
(C)A&B (D) Latechildhood

46. Tobacco addiction is due to-
(A) Cocaine @) Caffeine
(C) Nicotine (D) None of these

SET.A

40. o{Tfr 6sil t \16 6r{ + YH: fudq t tsrri
rR-
(A) sff+t ltfuTrqsii fr qld 6tt
(s) sqrflE-Ei t ssfi Ar6Tqd 4tr
(c) st o-olr s's t't
(D) or<q dt qr{4{ n-{J{R f{dq ttt

41. c.5' qo rrr{ qrft e-.ssfrr i qrt c{ EEI-c 'S4,i
+i sniosrm o1't re-.s-fffrdtwto-4fu
aqt * qrc{ qr* st( *te ai q& q-t d:fr r

n--s-+1 oFrfrqrr Enfr v-hi orftt, ates+ 6Iq
rR {GF5{ olEqrt +1 iR$ ,,1T iE{ 4tc 61 (B
q{ d.r tfr t r qo rsT-6{"r t-
(A) ,fc-f,rrrd qfurq +,r
(B) s{ffc-{ wgBur ufuw w
(c) s-4q 3rfuTq 6r
(D) Effi $ff

42. fufl cfuqT q qk qe-ti ri; q+at tn1 ts6r
frsdr t q fu c-se{ orJq-+ t, +i +ci qrdr

E_
(A) srqrq qfurrq
(B) {rqrfufi qfurq
(C) crdFrfi orfurq
(o)rtqt+tiTe

43. fr:srff qrtr+1 m flnTr * ftq eiqqm ftqr w
{r6-dr t-
(A) {qlsT{ ERr
(B) 5@ qm fr sro-+-<
(C) fuRrd ftren ERr

@) 5{t t qii T6i

44. s'Hk6 f{qrtql A Erffil S ftc ft,{ + m
ta*t qr-rt E z

(A) ftM errsqq
@) Rq + aTT fuqr rqT or$rq
(c) yqtin-<r+

(o) c-{q t +t{ Tfi
45. 'ffi;ii fr ong, oa qrdr t-

(e) xq qfte-,T{Er (B) qh'ItIrq{Er
(C) A clR B ++t (D) s-rr Ercffir€ir

a6. qqrqdw-{dffiEtfrt-
(A) 4t#{ (B) *ci-{(c)ffitr{ 11l) r{+tqn{.r$

01(HtNDtyA



47. What is the minimum age for maniage of
boys arid girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 20 years

(D) None of these

48. Break down in verbal communication is

described as-
(A) Short circuit (B) Contradiction
(C) Unevenness (D) EntroPY

49, Photo$aphs are not easy to-
(A) Publish (B) Secure

(C) Decode (D) None of these

50, The National Disaster Management Aulhority

firnctions under the Union Ministry of-
(A) Home affairs (B) Water Resources

(C) Defence (D) None of these

51. Which one of the following is the best

method of teaching ?

(A) Lecture (B) Demonstration

(C) Discussion (D) Nanation

52. The famoustemple 'Dhari Devi' is located al-
(A) Near Srinagar (B) Uttarkashi

(C) Chamoli (D) Pithoragarh

53. 4:9::?:27
(A)8 (8)6
(c) 16 (D) 13

54. The sum of--
1+2+3 a4 a 5.......... + 100

(A) sooo (B) 4soo

(c) so5o (D) 4oso

55

717
(B) 7ro2o

717
(D) 8 

ro2o

s1*t2 -st =4 17 15

817
(A) 71020

817
(c) 71020

SET.A
47. qrcd d o-s* q d-sM qft tq-qr6 qlq q{ilq

,$g sqr t ?

(A) 21 qri q l8 s{
(B) r8q{E21s{
(c) ls4{ E20E(
(D) fl+ t +ti.r&

4s. q]fis-6 q-qT{ fr q{qn 4l q-64 t-
(A) f,g cRcE (B) q-ml+is
(c) enrrc-mr (D) sdfi

49. 6rqr-fi-ii i6I ............ 5m wqn T6i ft 1

(A) xsraFl (B) gGl"T

(c) tqtid{ (D) Eqq t sir{ {€t

56. qSq urv-o c-{q vifu6{'r +FE + fr( rrqrdq

+ irri-{ or4 q-rm t i
(A) T6 qir& (B) trd {flq-{
(c) rsrT (o) r{E t +ti q-€r

sl. Frqfufufr { t f}Rror or tfr'nq sT *q {r
\
(A) ql@T{ @) e-af{
(c) i{sn fuqsf (o) s"h

s2. qfis-6 'Ert ffi' qk{ ftsrd f-
(A) 4r+R * {sfi-d (B) sirc+rst t
icjqm q to) F{fto,c it

53, 4:9 ::? :27
(A) 8

(c) 16

54, l+2+3+4+5
(A) 5000
(c) 50s0

(B) 6
(D) 13

.......... + 1006r frrr-
(B) 4s0o
(D) 4os0

717
(B) 7ro2o

717
(D) 81020

g1*t2 -s1 =4 t7 15

817
(A) 7lo2o

817
(c) 7lo2o

01(HlNDl)/A



bbb aa

@) bbaab

(D) baabb

Figure

Code

Figure

Code

59. Which number is presented by following
figure-

57. AZ,CX,FU,-
(A) IR (B) rv
(C) JQ (D) KP

58. ,PSVYB,EHKNQ,TWZCRILORU
(A) zcFrL (B) SVYBE
(C) BEHKN (D) ADGJM

Note : Q. No, 59 to Q. No. 62 depend upon
the following coding'

o a{b
2.

+

#n

56, a_bb-baa
(A) aabba
(C) abaaa

$n
(A) 16198
(c) 7e816

(A) 24672
(c) 72246

1 3.4.5

6. 7. 8. 9. 't0

(B) 79168
(D) 17968

60. \Vhich number is depicted by the following
figure-

D+AQE

6 I . Which number is presented by the following
figure-

{ASAA
(A) s67r4 G) 1e844
(c) 56744 (D) 561,14

62, Which number is presented by the following
figrre-

A+aA{

(B) 46712
(D) 27462

(B) 457s4
@) 746s4

SET-A

56. a_bb-baa
(A) aabba

(C) abaaa

57. AZ, CX, FU,-
(A) IR (B) rv
(c) JQ (D) KP

58. .PSVYB,EHKNQ,TWZCRILORU
(A) ZCFIL (B) SVYBE
(c) BEHKN (D) ADGJM

fra : cfl {. ss ft oe ttqidtsd W+ qrqn
Ir(BI

o A{

bbb aa

(B) bbaab

@) baabb

fd,

drs

frrd

*s
se. F{qifu-{ +{ S (@r 6} e-clq'fil 6.dtr

*n #o

1 3.4.5

6. 7. 8. 9. 10

D
2.

+

(A) 161e8 (B) 7e168
(c) 79816 (D) 17968

6s. Frqifu-d Ero +t{ fr Tqr s-EBfil +fr
B?

DSAQD

61. ffi6 t 6t{ fr {qr !-ftfil ffi t z

{asAA

(A) 24672
(c) 72246

(A) s67r4
(c) s6744

(A) 47645
(c) s4674

@) 46772

@) 27462

(B) 19844
(D) s6144

(B) 457s4
p) 746s4

0r(HrNDtyA

asaA{
(A) 4',1645
(c) s4674

oz. ft=rfo-a t +t{ * €sr nfitil &fr t i



63, Complete the following Number Series :

t, 3, 11, 47, ........., 1439
(A) 239 (B) 2e3
(C) 932 @) None of these

64. 15,10, s, 150, 16, 12,4, 192,20,15,5,........
(A) 700 (B) 600
(c) 400 (D) 300

65. 2,20, 120, ........, 3190
(A)220 (B)
(c) 440 (D)

66. How many rectangles are there in the
following figure-

(A) e (B) 10

(C) 16 @) Noneofthese

67. Find the missing letter in the following table-

(A) z (B) r
(c) L (D) r

68. Inthefollowingfiguehowrnarrytiargleaethere-

330

630

(A) 11

(c) 16

(B) 14

(D) 22 or more

69. IfA= l andAID=36,then BELL=?
(A) 16690 (B) 2210
(c) 1440 (D) l2r0

70. Who has been appoialed as the new Railway
Minister-
(A) Suresh Prabhu
(B) Manohar Parrikar
(C) Bipendra Singh

@) Jagat Prakash Nadda

c E

N K H

R 1

Z

SET.A
63. ftq {sr 4"ft +} qn dfr< :

l, 3, 11, 47, ........., 1439
(A) 23e @) 2e3
(c) e32 (D) r{i t 4ti Tfi

64. 15,10, 5, 150, 16,12,4,192,20,15,5,........
(A) 700 (B) 600
(c) 400 (D) 300

6s. 2, 20, 120, ........, 3190
(A) 220 (B) 330
(c) 440 (D) 630

66. ftAfttrrtfrrtffisrmoii-

(A) e

(c) 16

(B) r0
(D) F{t t 6ti T&

67. Ea tff ,r$ilft-+ri$ g< wn m Xffi dfr<-

(A) z (B) T
(c) L (D) r

68. fi T{ Brr{F{ q Bgqi +1rigr ma dfsq-

(A) l1 (B) 14

(C) 16 (D) 22qr qfu-6

69. qfr A= l *{ArD = 36,dBELL= ?

(A) 16690 (B) 2210
(c) 1440 (D) 1210

70. lt td r4 * w it H ffTff F*qr rw
o-
(A) $er eX
(Bl T+6{ qrft-dt

(c) lst{ ltE
(D) qTd IlrErQT ;nsr

c E

N K H

R ')

01(HrNDryA
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7t has launched the new Guaranteed

Minimum Pension Scheme in Dehradun.
(A) Menaka Gandhi (B) Smriti lrani
(C) Dharmendra Pradkr (D) None of these

72, The state gnme of Uttarakhand is-
(A) Cricket (B) Badminton
(C) Hockey @) None of these

Note: (Q. No. 73 to 77) Choose the correct
figure from A, B' C, D in place of
question mark (?) i.e. make a full series.

73 Question Figures

74.

't5.

76.

(A) (B) (c) (D)

LN LfL Lru ,}

LTLT Ln_ rU-L U-

(A) (B) (c) (D)

s @
616\v c

(A) (B) (c) (D)

Answer Figures

Question Figures

Answer Figures

Question tr'igures

Answer Figures

Question Figures

Answer Figures

Question Figures

(A) (B) (c) (D)

fD 0 C 2

Answer Figures

A\t9 G z'l;\
\, ?

?

U tr 0
(A) (B) (c) (D) (A) (B) (c) (D)

01(HrNDr)/A

7t
SET-A

t t6{r6t t r{'ntA-{il {r-dq +{H

sfl qr{Fdd

frmrT 6I gslT{'q fufi t

(A) t-d-6r-,fidi (B) Ftfr {@
(c) qfrq esr{ (D) {$i t mi €r

72. sfr{r€!-s EFr {lq a-d Hr t-
(A) ffie (s) ffircr
(c) d-+1 (D) Edi t +{ Te

g{sr : (vsr 73 t z? tr6) }riltfi csI d s( g+,
qr{fd 61gfrc d *.ri lwt ai 1o
otft t

73

74.

15_

76.

11

(A) (B) (c) (D)

Lfl L[ LTU ?

L|LT LTL TLTL LT

(A) (B) (c) (D)

6 G Z'ld-\U

e @ @
(A) (B) (c) (D)

Ef,{ qr{fild

w{ !fllEfrd

s-m enEftrd

s{;I srR[frd

sar qr{rdd

s${ qr{ftd

Enl qr{fird

vs{ i[r{hd

(A) (B) (c) (D)

fD 0

sil{ qr{tfd

?

?

U tr 0 E

il tr f, c

z'rd\w

dl

lcl , re
il tr f, c

O o o O o o
o o o O o o o O

K



78. Match list I to List II-
List I

(Name of MLA)
(a) Dinesh Agrawal (l)
(D) SubodhUniyal A)
(c) Pust*ar Dhami (3)
(d) Harish Rawat (4)

Code-

List II
(Constituency)

Khatima

Dharchula

Dharmpur

Narendra Nagar

(A)
(B)

(c)
(D)

79. The state animal of Uttarakhand is-
(A) Lion
(B) Cow
(C) Kasturi Ivftag

@) Elephant

80. Mil Mi-17 is a/an .......... helicopter.

(A) Russian

@) Indian
(C) American
(D) None of these

81. The official state second language of
Uttarakhand is-
(A) Hindi

@) Sanskrit

(C) English

(D) Jaunsari

82. Who was Tapan Ray Chaudhary ?

(A) Historian

@) Economist
(C) Painter

@) Actor

(r)
4

J

3

3

(a)

3

I
4

4

(c)

I
4

1

2

@
2

2
')

I

SET-A
78. (* r 4r fuf,rr {S rr t stBq-

qfrr
(fqqrq6 6r qrt)

(a) Rfu vu-+ro (l)
(r) Udq Gfrqrfl A)
@ gqr qrt (3)
(4 aflsr {r{fr (4)

qz-

q*u
(f{qn qqT 8q)
s&qr
qrr{di
q{s
tqcrn

(A)
(B).
(c)
(D)

79. s-f,flws 6r tlqq q{ t-
(A) ak
(B) T rq

(o 6qt Tr
(o) Em

s0. Cq.qr$.Sd.Cq.qr{.-rz qq .......... fffqiqt r

(A) sfi
(B) qr.frq
(c) sTin-fr
(D) F{t t +t$ T€t

81. ERrCr!-s qff qftti5.rftis' laifrq nEI sTrqr

t-
(A) t6fr
(a){qil
(q oF}fr
pyffi

82. ilFr {rq ffi *tc t i
(A) Ek6rfi-6n
(B) qftnd
(C) frT6r{
(D) qh+dr

)(b

4

3

3

3

(c)

I
4

I
)

(a)

J

I
4

4

(d)
)
2
)
1

01(HrNDryA



Note : (Q. No. 83 to 87) Choose the right neat
' 

ligure from the answer figurewhich one

is the next right figure for the question

figure series.

83 Question ligures :

Answer figures :

H H
(A) (B) (c) (D)

94. Question ures:

Answer

(A) (B) (c)

95. Question figures :

(D)

N

L
o
L

o
o

E\
L

Answer figures :

(A) (B) (c) (D)

86, Question res

Answer urcs i

(A) (B) (c) (D)

97. Question res

Answer res

J rl H H H

S=o

1
xA=

o
ox4 =o =O x

*

o
+

= Oa
S

-- or x
a

=O
a

N A L

L o L

a

o "5-
a-<

+
E

<F

a

+.u

^l+slc
llc
al =

a,ll
=l*

+l*
^l?

a'll
? Itr

4lo

"lT
?l^
+l+

?l^--{-trl#
llo
al#

(A) (B) (c) (D)
01(HrNDryA

+d

83
yan oil{ftd

gf(

(A) (B)

s4. cs{ on{frqi

(c) (D)

(A) (B) (c) (D)

95. na ur{fuoi

Ef,{

(A) (B) (c) (D)

S6. err trr{frd

(A) (B) (c) (D)

87. rT{ s{r{ftqI

(A) (B) (c) (D)

(mq d. as t ez tr+) fr=fttu" o iili
qn mq qrft {6r * <rtr{ *{ fr'r{ dq
qr6ffi t t dlq fr s.tt qlefr cr{ ifrIt dr
yrr,flEfrm * <-srr qK grl* qIRc ?

,f =o o
*

oxE) xA=
o

S=o

gf,{

a

l"+- l-
a-<

+
a

vf,(

siR

J rl H H H

H HH H

= OO
s=O x

a
=o
a

ot

oN T o
L L o o L

+-
+ilI

al'l
slc

llc
al =

al+

=IT
+l*
al?

all
? lo

t lo
"lT

?la
+l+

?l^
ol#

tlo
al*

H lH

-J*.1*"



88, Which is the highest peak of Uttarakhand-
(A) Trishul (B) Nanda Devi
(C) Chogori (D) Neelkanth

89.'OperaionSuryaHope' isrelaodto which stat+*-
(A) Uttarakhand (B) Uttar Pradesh
(C) Bihar (D) Tamil Nadu

90. Who was appointed as a Nodal Ofhcer for
Reliefand Rescue operation in Uttarakhand-
(A) V. K. Joshi

@) V. K. Sharma
(C) V. K. Thapliyal
(D) V. K. Duggal

91, Hon GovermrofUtamkhand is appointedby-
(A) Chief Minister of Uttarakhand

@) President of India
(C) Prime Minister of India
(D) Home Minister of India

92. Who led the Chipko Movement-
(A) Gaura Devi

(B) Chandi Prasad Bhatt

(C) Govind Ballabh Pant

(D) None of them

93. 'Ansuiya Prasad Bahuguna' is also known

as-
(A) Gandhi of Uttarakhand

(B) Garh Keshari

(C) Vraksh Manav

(D) None of these

94. Kalsi Inscription is related to-
(A) Emperor Chan&a Gupta

@) Maurya Emperor

(C) Emperor Ashok

@) None of them

88. sflrcros .b1 (.{fr dfr +A t-
(A) B{il @) aq16i
(C) drilti 1o) +c-+u6

89. 'cilqtsFr q{ Ac' fr{ rqu i sqf+m t-
(A) Efr$so-s (B) s.ff Jrqar
(c) t{ar (D) dkdrg

90. arflnros q {r6il \d q-{q 6d + ftS ftffi-+}
+sm erftrfirft fr aq fr ftgm fu-qlrrqr ut-
(A) 4. +. dQfr
(g) *. +. sTqf

(C) {r. *. qcFd?Trd

(o) *. *. gq-d

9r. sf,{rs!-s + qr. nqqter +} dtq frgffi rrccr t-
(A) Etrrrco-c ri; gqriff aRr
(B) {Ecfr ERr
(c) yeffitff ERr
(D) qrc( 8 '5liff am

92. Fffi oTr+tr{ dr t{d ffi fuqr*
(A):fhr tfr
(B) {S e-frR qF
(C) rfrt{< qRIET r6t
(D) rt{ t 6ti Tfi

93.'sgucqt Ysrc qwn' +1 fus fit qrq t qHr
qkn t-
(A) Emrsus * rfitff d ilq t
(B) Ir.d+st * qrq t
(q Br qr{q * crq t
(D) 5<{ t qii Tfr

94. mtrfr EFr Frf,r+s ffi {qF{dt-
(A) mre Tirgcil
(B) fr{ tgrc
(C) wrc q$-6.

@) {dt t 61t T€i

01(HrNDryA

SET-A



95. Name of Kumaon in Purana's-
(A) Kedarkhand

(B) Uttarakhand

(C) Utlranchal

(D) Manas Khand

Note : (Q. No. 96 to 100) Read the following
figure and give suitable answer from
given options.

In figure triangle represents doctor, circle
is represents players and rectangle is
represents artist, then-

96. How many artists and players are doctors-
(A) 6 (B) 8

(c)4 @) 3

97, How many artists are players-
(A) 30 (B) 2e
(C) 25 (D) None of these

98. How many artists are there who are neither
players nor doctors-
(A)ze (B) 30

(c) 22 (D) 8

99. How many doctors are there who are neither
player nor artists ?

(A) 17 (B) 30
(c) 8 (D) t7

SET-A

9s. g{rEfr d W,g d fus qrq t qr{r qril qr-
(A) +'fisus
(B) gfrrcss
(c) 6dd{f,
(D) qmrc!-s

ctc : (vrt t. so t roo n-o) r&+ Yr* 6 Fts
ffi6-d qrtfd:nr qq€q.t trtsF{d
sflfrl

wa agq ffi'61, at @i
+1 eefi qrcfr 6.{r6'rt'qt u-Ef{fu orm
tr

gs. ffi o-dmn Cq tmn$ efer t I
(A) 6 (B) 8

(c) 4 (D) 3

97. l6-dt *-or+n ffi E--
(A) 30 (B) 2e(c)zs (D) gs{t+tirfr

gs. ffimemntfrtdrdffiE*rc
ri-€{-
(A) 2e (B) 30

(c) 22 (D) 8

ee. ft(+ eiff Efr B fr q fr ffi t qt{ c
qiIIiSR ?

(A) 17

(c) 8

roo. frat ffi qfr B * q fr 6mr6n t qtr r
drfi_
(A) 22 (B) 4
(c) 2s @) 3

(B) 30

(D) 17

01(HrNDryA

I 00. How many players are there who are neither
artist nor doctor-
(A) 22 (B) 4
(C) 25 (D) 3



qrrr - 2 (F4)
(cfi lrqr ror t zoo o.*')

to

rol. emm +r *fr-*-* t-
(A) ffi in1 u-*S
1c; nrgt (o) sS+e

SET-A

ros. H tftq. 'wrqR gqsqur, * vqrc+ t-
tnl srrg=rr t-r 19) qlfigu<
(C) nqqq qFH (D) +dRft fr6

rro. 'erqrt' 6 aq-a-+n t-
(A)iT-fit-6 1nl rfl-<*qrffi
(c) {gc clrd (D) gf,ftrq

102. 'stq6rq' + ofr t-
(el eq{q
(c) t'.{T{rt

(B) trirftiaT
(D) Eft'{m

ros. 'tft er fr iq ffi ErS sr{ q q]d +tq'
aEffit-
(A) gfirqri (s) frtrqr{
(c) ffi 6o1 <uwr{

104. 'E{ y-{.raT' r-q;q 4'rq * r+qron t-
(A) lFr (B) Wq
(c) E{ (o) rm mfr

ros.tnst s ilffi t 'ftginrff mRs ar Efurm'
ftrqrsrdfusrt t
(A) qft (s) fr-A
1c)miffi (D) E{

roo. sq{ t *{ fr rq-+ gn$-os fr t i
(A) T$qm{qft 6; nrtrm-{
(c) 1q1ffi 6o1 quFffi

ro7.'g{ sGrd F" Eq, grd vgt h* fi-*' fr
*i{r tsftf,rm t r
(A)frqrfir 1n; enfufr
(c) ffiqT P; i+ten+n

108.'rr({'* qrqrm*ct r
(A) f,tiirc, st5m, q-*rTT6, srk{q gq
6o) ftr-qftq, frflq(, rrd*6(,qqeq
(c) qcdgh, rBr rp,
1D) idfq-{q, qfu6 qrpqq, trqts{, Brqm

frkd

lu. TffiliErfi * eilqr q1 Eiozii m 6q t-
1a; vr#o, q-qgrr,4Tq1qfr, 56Ar
py vr*a, mrqr+ff, gae*, u-eg,r
(c) Trttn-ft, ff+a, Ur*-*, sr-"Ergr

(D) {r$-d, 6o*-x, w,qg,r, 6rqrft

rtz. rq-'roro * ersR cr n-flrE * Frqfrkd rr.d
+r n-& mq t-
(A) ot-drder$ {q*, gq€rfrft, {qlq
6l ttw*, ffqrdile; a-<.jw, g+eftff
(c) nsq*, TflJq, q-qrdarn, g-qerkft
(D) {qS, g-{srft-ff, q-<gcil, et-dldPrg

ttr. gtfua dtuq-qfrI qfrr
(a) w frrim (1) tftr6{ s{d
(6) ilq {qflq 121 nthem wf
(c) urwr ua qt<{ (3) r{s-q gffi
14 H mtre: (+) q-< 5ilrt etqqff

ffi $rdr*
1s) rwrft Y{IE kt&

w-
(A)
(B)
(c)
(D)

(a)
1

3

5

4

c)
J

2

2

I

b)
2
5

3

3

@
4

4

I
2

01(HrNDr)A



. u4. {qfu( dftc-' {ffr
(o) {m ffi
(b) {6Tqrql
(c):frqt
(d) 5-d{

qft II
(1) :i-ffi
(2) Frdfr'sl
(3) rr< * frc
(4) T& + fic
1s; w"npfrum+w

(B) t'qrfl€
(D) *tt

w-
(A)
(B)
(c)
(D)

11s. ssErqr oi kom ffi gut i
(A) hn* (B) qFrS

(c) irdqF.rfr (o) ehd-ff

(c)
)
3

I
1

b)
J

2

5

5

((a)
4
I
2

4

@
1

4

3

2

rrr..Trsrgfr + qrffifi q,flo-cq m snw t-
1el Eta-oe (B) qft
(c) etd (D) FT.{rT

u7. {qil t dhT {e=ri fus qrqr or t r
(A) orc:reT 1n) ffi
(c) vr-{f, 1o; eihff

il9.'erfrfir or frqq 6fr T&,6fudT ii,ffi
i5-6I ?

(A) Cr{s{
(c) fi. qfr. Efr{c

t2o. FEftfu( {rRfu6 qr-<l em e& mq t-
1e) rrker, urqrqn, qfrrmE, qrffiK
(B) Erqr-{R, rm,r-qTE, yqia-qn, cr{qT(
(C) ErqHK, cq-q-dR, sqfu{K, y+rdrE
(D) urqrqn, y,rtffis, e-dqq-{, ytrq-qK

SET.A

r2l. T6gnq 6 6-aan t-
(B) sq{d
Pl {ed

r22. gilfr{rt ff * s{k fut r+n d t I
(A) <5s qrE (B) tq qrs

1c; qg{ we (D) qimtq qq

r23. 'ffiEkd qraq' ff $-fi t-
(A) frfr $rfr (B) Etdr Acr{ $-fr

tcl st6T t& P) dw{ $rfr

(A) sq1
(c) gon&

124. Atm qi Ti-
61rmuu {wft
(B) {Irtr {lTrqur
(c) T6r5wr
(D) s-dr giM

*f-{
gmfi-<rfr

5E-(-<
loTqB

125. 'dqq' fun cr.{- $r crd t-
(A) T{gR 6; ort-er$
(q orqgq (D) rttt +tiTe

126. 'i{cr& *1 fr' frffiiioer B i
(A) +6{ rr*$ (s) ld-rt( {ftft
(c) Trrtff qqf (o) rtq t +t{ TS

rzz. ftq ilks 61 q+t& mq t mfrs-
(A) qrflpTnr, fltr{ E{'r, irrar rFhrQT, {rT

ksrd
(s) w fugrc, flkq{oi, Erq r6H, iltrerTH
(c) r( ft-crfi, artrs Ei"r, {rfl flre, m'rq

tr6I9I

1o) flBmE{vr, {ffk6r<, iiqr err€r, fiq
F6Ar

l2B. d-6rFrq (tr{r ffi o-sil t I
1e)wtun (B) qfr
(c)rg (D) +t{TS

rzs. tft rryoq * s-ffi+, St{ t i
(A) rrq-dd{ 1a) Tcdgf{
(c) E<-6 (D) ilq{

01(HrNDtlA

ua.' +1ffi mE-e +r qkae 61 tfq qmt
+frqwERd-cTqtBc i
(A) Eqr€r fr mq*.in wB<
(e) er< {T6 t 6q* 66 urB<
1c; wfrrm fr fr'qnT.ia aft<
1o1 a+r*Fio Gtt q futrdr.iA uBv



130. s-{rft qrA st (@T ffi *ft t i
(A) 40 (B) e
(c) 33 (D) 80

131. qrq * qco m'qrr: t-
(a) q,f, re, .r(, qre
(B) s"f, Qrtt, qrfl, !i-g*{
rc) sst, srs, En-fl, qE

(D) er<, q{, qrfl T{

132. 'qqrfr+ *fi' * cq-dT +t{ B I
1e; toia-<r+ (B) sird-<qdr
(c) qMEF (D) q.d

r:1. rs fcgrfu + q{ qrq qrqr+n B-
(A) r-tilgh 1sy wrftrrgw
(c) ilt-{ (o) uFr++ gw

1s4. frqrE t ssm t-
(A) lrfl-{r
(C) tddR

(B) 
'!{rq

(D) {q

135. <rgqTrrdmrfr 6Rr tsTqrq {fl B-
(A) {q-m (B) TrrR rfl
(C) vnq rs (D) t-{ {(

136. Trrq, tqrc, q6T{ + {id-s{ inr qmfi.T t-
(A) t'+dr{ aq (B) d,6-ffi Tq

1C) offiafr xa (D) Tq E6-m{

137. 'fr-sTrs' * rq-rrmi t-
(A) Td+fr qqf 1n) f+r il{rqoT
(c) errfrwag{ Rta fol qiq

t38. yrFT Hrflqrh trr n*rrq=T od ffi fuqr I
(A) rT'rrdq 6n) rriq
(c) +ff{rq srn*o (D) nql6{h aTqf

r:s. 'orkf,{r<' * c-s-d-6 d}-+ t i
(A) rr{q (B) +&
(c) ffi p; fftu

1a6. 'yqffi, *,* a] q{q ffqr t- 
$Er'A

1a) tszo-rsso {. (B) le5o-te6o {.
1c1 rsoo-rsra {. (o) r{+ t +t$ T€r

r4r.'?et 5'ff Mqto' +r edt-
(A) rlrgr s'r{r (B) rdrqi{fr *-{r
(c) ++r irrq irfir 1o) 4t{ T&

142. 'fr{ oto t qg{r qrft, m qd t-
(A) Tgd SF fr{r
(B) K +1Tq g<t E.rHr
(C) tsr rrfr Et{.
(D) (q{ rEfl A-dT

r43. 'fr{ rs' 6,I srft lTH eHr t i
(A) dE (B) s-flr6
(C) tqsq (D) qk

r44. 'qrfli {€ffi{i o-rs{ fu'q-6r +'rq oem t z

(A) qqg 1a) f4aq-flq'
(c) qo-S (o) rtqels{

r45. 'etfrd m r+ft-o ftrt'
grofr w-r 13 il{ qtrsd gu efu tv H rr'

t stq-sr r( t r
(A) Tfi (B) Er€
(c) s'FsT (D) qrsq

146. '{& ff +-fr siFm' fur u< mr v+aor t ;

(A) :nBc w'< 691 qFf6 6-<
(c) W u.< (D) 4t$ Tff

147. Rrffrfr srrErn rR it t uer uq t i
(A) Acr$ (B) t-f,r
(c) E{+ (o) frrdr

148. 'qrt {rt{+' gffir uR *S t

orG FrR rrqftr fi€ c *fr n'

{*tsI ffii6Rt i
(A) ?rqRiq (B) qf6'
(O rq-an (D) trdeTr
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149. d'. {rq{wn d olrqsrdr { tofr gun affi
' iff rt6i .F{ g3{I ?

ia; rs+o t.- 1n; rsro {.
icj rssa t. P) rszo {.

tso. fa<r fr+s q-q qqrqr qrfrI t z

(e) r+ kcqt P; r+ fta<t
(c) 14 sqq{ p; r+ w++ft

rst. wr.fi cTrqr 6T fil+rfl fuq otc,ier tt g-in t z

(A) qT{di (B) wdqT$ft
(c) qr{s (D) G{

tsz. Hr ur qror mwrko q-r ffi qrqr qrar E i
1e1 ot+++t gw (B) 6{d ffiios
(c) s-qr freff (D) qt(

ts3. 'ffsmtd {t' ffi rq-tr t I
(a) ;nqfr cr€ 6; roo fil'e
(c) qrrk6 1P; trccr<(

tsa.'ffi srFs +r Efusm srf{' {rq6 r-;q +
tcoalct i
(A) S. nrf{{ ft6
(B) Ef. furq +6r
(C) if. cftn ffiq-{ aTqf

(D) qrfld Ewt sfi( f,ailft

tss.'n-rsfi' chsT * qerdi {qr*F tnr ;nq €r
qI?
(A) iTq-<
1c; ftrror

1s6. $'. s{&( qnfr fus flRrko + qqrc*. t $ i
(A) Hiwrtr+ trg<n1ey E-fqH qrks
(q Edgrr (D) gqT

157. qRq' +6'r< qrqfi i fus rq d rq-n fr i
(a) q-qqrq-a (B) ffi
(c) ffi (o) qgqtefr

(B) tIqq {i
to) rsrfits'$(fr+ft

SET.A

rsg. slt( tqrrfr 6r sqn m frqr t
(A) {i6{r.{rd (B) Tfficrqd
(c) mr+<iqr{ (n) qrqqtsl{

rsg.+-frcffi * go m zFII ;IFI qT ?

(A)tff{ (B) cH{ff{
(c) {rqF< tol l'qr+<

160.'{or',rR *1 l ar-oft.iff of t qrq' qg fr
tu.qotufrt i
(A) sq (B) qe{
(c) {q5-ffs (D) t{l{

161.'qrqr .rgrdFlfr sq erfr' fus qh d fr t I
(A) gil&{rt 61 um$
tcl o-&rou (D) r€Iq

162. 'F?i{ + TIT+qI +Tq m wt mq t t

lay vsrrRu (B) ,nqm<ffi
(C) s-{rgnur (D) ftti T€f

163. (< arar t frs rc fr vsffdr t t
(A) qk re 6t) TrrR rfl
(C) 6'6vr {s @) W< w

tol..tt$q sq6a * e-{+6 q-qT{ q'tc B u

1a)t-a< ravg 6n1 hr<i+M
(c) ai6md (D) iffiieT

16s.giftd dlfrq-
qfir

(a) er*fr+r
(r) sTRr€r{r

(c) rhq
(d +frr

qa-

(A)
(B)
(c)
(D)

qfiil
(t) rszg {.
(z) rssz t.
1:; rssa t.
(+) rs+e {.

a
1

I
3

4

(c)
2
3

I
I

@
4
4

4
2
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(b)
3

2

2
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167. tfrgffi +,B t-
(A) ftsrfl-(rs
(B) -qro

(c) fuiltE
(D) qkrq

ror. tk+rq * rgs q-ef d q-a q-S qrdT-

1e1ttu*e
(B) tfn5ffi
lcy tfrkc
py amr ndif

t69.+rtrfrqrgm tit-+To m 'cqq 6fr' ffi qr<r
qnrt i
(A) Gr6rt

(B) frr=drqFr

(c) c-flrEr
(D) *rr+ffi

170. Erritirq FFrfftfr *fuc-
1e; ffi, q-tr+<, qfo-cq, *rrs
(B) +$s, qfr{rq, ffi, q-{T<
(c) q{rc<, +ard, Cr6rt, qfuT{

(D) srtffi q sli T€t

tzt. gurtr + qEd-6 onqd ff-{ ts i
ta) wrqqr+r{
p1ffi
(c) +wqqr4

6o; r+rfr eft<rr

fr{$ , (c. u. rzz-rzs) trt fts,rs csdffr#
qtq[f6 qEC Bfu qz d uoqm t u-fi s-d{
ar qrrq dfrgr

qz-
1a; a oltnffiv&t
(B) A E&, n'rcc t
(C) A rrd-d, n r€t t
1ol a s*t n ffi.ro-a ts

172. €ilrlr (l) : ft{q qEa ft{r6R * qfu't 
r

a-d fnl, A$"r qk fr at$ ure,w rS d-rr t r

173. IsrT{t (l): ffi qk i 'il'Irdq' fr mqal
€l
a-d 61 :mr ff qk e 5Ra +r <ror t r

174. erFFrr (a) : ft{q qftil q qHflffi qk qr
co ftqr rS i{Hr t r

<-d 6y:trtk+qq onstn rkccfrEtdrt r

175. errrFTr 111 : ffi qk t n{ ar h}s tqrc
EI

a-d 1n):iq * efu qk tnrq q-Str

1?6. efiIFrr (A): enFs-qq * wgil{ qk gE {r{r
Pr-oil gfr tr
rd G)tqfu qi-q qqiY{ qffim i6I<=q{
qwrtr

l??. tqrlrTr (A) : sf, 6fq qm or urw f+jtt
rutr
a-d (R) tgs qTrt 4}smqTrff trRTTfr.6-6tB r

1?8. I{xrs{r (A) : gF-nrrs As fr k€ q{ +
n+fo tt
a-d (R) : kre qd t{$'r ril +1 rfr mrm t r

179. €rFr:rT 1A): n-< aq* t++nura Erer t Tfr
ffitr
n-d G):sr1fuj"i rff t r

o1(HrNDl)A

166. gd$-+e * e-{q-{ iET irq fi-
(A) gmruq

1e; nr*or
1c) i+co-+<rr

(pl rfficr



r8o. gEt(rd dfuq-
qftr

(d) Fclar€rfil{K
(b) td-{K
(c) U$ta-dl<
(4 m$q tq(Iq

qe-

{flr
1i; t-a< w"5
(2) {rqEqrsd
(3) qvrrqr{

(4) q-fran-+{

(A)

(B)

(c)
(D)

t8t. {TT g-{fi-<tt iFI {Errer fufl ell-+rd c{q{r t
tr
(A) rrrtgfrq
(B) Tffiqiqrffq
(c) *amfrq
(o) trrrrdq

ffiqr : FrqPdk{ tr+cr"r sil sqnf,{-6 [-d-*t
frn ftrA sr* (cr,r vsr tsz-rsr) t
sil{ frm r

qqBc .rq
r< t, rgw q.sr cTff t, qr or qq o(f,r t r

.n, Td Td, qrqq * Fd qpqa fr qadr } 11

til-T, Bta, sffi, +{, Trdr + fnq orkd tr
aq, qfu<n, srq * vrqo g q fuE qRfud t tl

rc ffi ft+ rra qm t rgq f{cd EtdT t r

uq, qrq * qrc T& d qwror tm t u

z16 fr-q{, T6 crg {5q E sTren {gr c.S t r

q'ilf,rdT t, {6 {jqdr erq n-+ a-fi qt t u

Tff \.+, orffiq, Grrrtr i6t silqi Wqs-ft fr r

tdkt {6 d 6S furur fi omn t qrfr +1 rr

o
I

4

4

4

(c)

t
3

I

2

(r)
3

)
3

I

(a

2

I

2

3

SET.A

r82. sqgm tr+fi"r t '.rdT' * +{-$t{ t frq
qit.rt t t
(A) +{, ctdeis
(B) aR, vtdetq, rt6, d"{
(c) i-6, *6'
(o)r<,qte, cffi

ls3. wEffi er+mq d 'z16 6-{q, qE i{g ......'

rih( tfufl n6n * dgoil' * <n d 'lfi t t

tal qmtrc * sfi"(

1n) *tu * sfi(
tcl gsfr ;r,r *(
(D) FdETft * d.(

184. Bftr erErtr{"r d r..... rrFFr + Fc qr+q fr rrdr

t' +r qrqr{ t-
(A) qci Fr mqq eg eTRft ff qrrm t
(B) fi-d fu'fr dt S A, ,*16 rrgq fi t
(c) rgq fr Tgq * qrq indr t
(D) sci-ffi d ftt$ T€r

18s. vnT w+mq t frfrt W t fifr fuior S .....'
qtff t fu.<or *r qlqpi t-
(a) ortt rtil t frqEqTt fiq-+ ffi etur e-6reT

1n) Wrfr rra t {q{rc yorw qft fuiot
(c) qrqflq oi( rcnn t ht r+ d T{$-{ qfr

silrTr sr €sR
(D) sri-ff d 6ti TS

1s6.fufr rrrffi ;nh t c6 t qk6 qrsn] fr
orqtq-+ * z

(A) ritq rq-q
(B) Skraq
(c) {Fn{r
6o) f{-dt+t
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187. Tdrfte-ff( ft8r dI *fr-drct +1 t+s rwo d
tqrcfuf,rt r
(A) ilR {R-6. (B) (tr(r Hw6-
(C) frar rwq; (D) *qr ffi6

188. '6wget.rqfr q' R-s i-{'fi-fl*,n d qfr t I
(A) rrq-< s-€R {t6' (B) fr{ 615r
(c) erftr gw (D) Tq t-{ t{rTe

tsq. Tflfrffirt 6E( ysa frfa fr r+<r +tr S t r

1e; +ffi dgt (B) deft slr qrs-d

1c1fui-+ * da (o) erfr gfi eun

rro. 'qrw or vrirfi qtsr' srqrfr * rsfrfrr st{ t i
(A) EfA-( qrrfr (s) iq?-{
(C) ++< grr (D) tsTfdtnd rrrn

191.8{t t o{iqtdr6 ts'riTRFER dh t r

(A) 3Tfflq
(B) qtq qGT

(C) qsrcrf,

py mufum ilq aTq'f 'tg'

192. '.mr+ff' 6fuq ERr iPqfr m {rfu6r t-
(A) frFrtror (B) E{efr

1c1rma-& (D) trg;qtl

193. 'ffidriq{' qrc6 * rqfudr t-
(A) qrcr{ (B) gilfrfffr
(c) +rfufl( (D) Eaffi{rs

194. 'rg.t${' rer+rq fr fd$s t-
(a) sr {Tqrcir c.r sda
@) yPrff 6T q.iq
(c) ercd] rnr sofr
@) Eqi t sfi c-&

195. '|offi5q' cr.6 t {fi sqm t-
(A) frr (B) t-{
(c) qlft (D) o,l6ur

SET-A
le6. '@tq' fr tu<ra #c t i

(A) ftq (B) {q
(c) Fq (D) sfr

fttqr : Frqfukil qErFriwT *i q-go'.r ftA ftrd
crfr (cvr t'6{r rsz-zoo) * um fffrrt r

trqfuc rrq
.thq t &o 6 tra, i6 q-Jq +1 ruq-dr {& t

fu qE v{+ Us-g,u- 41 EoriTfd 6 srq te.dl t r

qe effiqfrffi-d dqr A {gq 61 {gq e-{rdr f r

orBfir $s ofu ordqf,ir+ q{ +l W ss c& t r

g+ oTree{ *dr t fu ei-i-{rt E fr 6qrt qrqr i qe

qrq *t-*fr re.rqr t, ABr g+ ilqr * e-.d+ qr

ernq{ goTI qT I er+H ffi srEff 6} qu.rm t stt
w<6 g 6 vcr ggfr dt6r ti 61qqr *,f t r

197. ltdq + rrgs{dr ffi tnrr t i
(A) qm:q 6Rr qFFi 61 i-{r fii 41

@) rgq * ir<gXfr .Trd +1
(c) qmq am +-f,e qioc 41

1o) sqt-ff q +t€ T€l

19s. 'q-ffiffi-6 {qq' t flr orfunq t i
(A) GTci anr qqrt Tq ffi t Kt dt

dis{r
(B) H6{dTTf+, qr6n a.-Fn

(C) oTqi sqt fr{ifl rcqr
(p) rdr+lff+ * ftc iRa ortr

qd' 6T sfl zr} t' qhf, q oTIt

Efi {rs or sr{ t-
1e; uGri (B) cRuT
(c) EfiqT (D) *-d

zoo. arstqet +r qrq t-
(A) fBs6 E)-{r
p; ftcrt gtr 6t{r
(c) {q{ d orcqT
(D) rrq{6,1 qsqffi5'qo-tm
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